[image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]
[image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]\
[image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ] [image: ]
[image: ]http://isacwserv.triumf.ca/onlylocal/isactdata/save_restore/masscorr/2019-09-25-13-29%20Ta%2359
[image: ][image: ]
[image: ][image: ][image: ]
[image: ]http://isacwserv.triumf.ca/onlylocal/isactdata/save_restore/masscorr/2019-09-26-12-06%20Ta%2359
[image: ]
Mass 39
[image: ]
Mass 136
[image: ]
Mass 136
[image: ]
Mass 136
[image: ]
Mass 28
[image: ]
Mass 28
[image: ]
Mass 28
[image: ][image: ]
Mass 28
[image: ]
Mass 28
[image: ]
Mass 133
[bookmark: _GoBack][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]
image6.png
FEBIAD Target Heat Sequence Setup

B00
1.000

580.000
1.000

Za0.000
30006

5000506

- the time interval between increments. (in seconds)

- the amount to be added to the target heater
after each fime inferval

- the value that the target heater is required to reach.

- the amount to be added to the tube heater
after each fime inferval

- the value that the tube heater is required to reach.

- the target and tube heaters are only incremented ifthe
vacuum is akay, i2, less than this value

- ifthe vacuum exceeds this value, the last increment
of the target and tube heaters s backed off.





image7.png
State Machine: - SNL Sequence loaded -
cxml_TSH_tght
Can't unlack the procedure;

the sequence is loaded on an 10C.
Increment target heat

Increment tube heat
Walt for specified time

if vacuum ok, increment heaters
Increment target heat

Increment tube heat

cxml_TSH_tght State Machine izl (il P
CXMLTSHSTATHEAT  [1.000
[Entry | CXMLTSHTBHTING 1.000

[ pail_done CXMLTSHTEHTMAX 230000
CXMLTSHTGHT-ABORT

CAMLTSHTGHT:START
CXMLTSHTGHT:STATE [ Mainawait

CXMLTSHTGHT:STATENO | £.000
CXMLTSHTGHTING 7.000
CXMLTSHTGHTMAX 580.000
CXMLTSHTGHTWAIT 30000
CXMLTSHVACMAX 0.000
CXMLTSH:VACMAXSPIKE | 1,000

Monitored Operational PVs
TSHTGHTRDCUR 3077
TSHTBHT.RDCUR 3370
TSHTGHT:STATON
TSHTBHT:STATON
TSGIGI:RDVAC

Contralled Operatianal
TSHTGHT.CUR

All_done





image8.png
x

vacuum_bias.stp [ TSGIGIRDVAC |
log10 (1e-07, 16-05) VAL=1.51646e-0
subroutine record
TSG:BIAS:RDVOL
v
(0, 30000) VAL-26959.7
analog input record
TSGBIAS:RDCUR

uA
(0, 200) vaL-12.0879
analog input record

TSH:EE:RDVOL

v

(-2500, 0) VAL=-1496.95

analog input record
TSH:EE:RDCUR

{6, 1000) va-s05.455

anog mput record

{0, 15000) vaL-12991.5

aneiog mput record
TSGEZLRDCIR

uA
(0, 200) vAL=61.0501
analog input record

pre-7-

Sep 24,2013
(Minutes)

€ 3 4/ 3P o X ¢][ 0] #|= 4scroLLne





image9.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

B — "y an
s 1 A 17— st
[Toovor [ 500V R e —

| m— T T 505 uA

Set Limt Volts 10000 V.

(oo |
o Set Limit Amps 600.0 A

Set Limt Volts 10000 V.
Set Limit Amps 600.0 A

TsacalA [———t LTIV
0052 T

[ rsac
152e-06 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e
Sources Save/Restore





image10.png
x

vacuum_bias.stp TSGIGTRDYAC

T
T 10910 (16-07, Te-05) VAL-1.49450-0
Subroutine rocord
» CBiAS?
{0, 30000) vaL-29963.
anlog nput record
TSGBIRSRDCUR
-+ +

uA
(0, 200) vaL-12.8205
analog input record

TSH:EE:RDVOL

v

(-2500, 0) VAL=-1496.95

analog input record
TSH:EE:RDCUR

{6, 1000) va-s05.455

anog mput record

{0, 15000) vaL-12991.5

aneiog mput record
TSGEZLRDCIR

uA
(0, 200) vAL=61.0501
analog input record

Sep 24,2013

(Minutes)

€ 3 4/ 3P o X ¢][ 0] #|= 4scroLLne





image11.png
X /usr1/isact/ed/isact_optics1.edl -

ISAC TEST STAND Sep 24090821
== |_tMsrce | -4.88e-12 A
| TMsER0 16.10e-04 volts
N — - = g 1230 V 1226 V
(s voss ] &2 = 458V 28V o LTS oo |
([ CCE e — 2BV 2BV T = 2
NED- |- = = 677 V 680 V.
V= | | . 2 = oV oV
N |- e = av av
V= ||| 2 — ov ov
' [Tswer (8 T na7anA “3623G
U= || |- 2 = oV oV
N - 2 i oV oV
VE | |- 2 = oV oV
N e = = 677 V. 680V
(R sves— g = T 4@V 4mvy = |
= scer = T sov 488V = s cec |
N0 — | . = g 1230 V 1226 V
(=] IRCSE oot || in 1.44¢-07 A
UE . = = 500V 500V
(Vs vees s = T smv sV = e vsc |
VD - = g 1110V 1oV
NE [ = — my 770V,
= [Cescez_ s — T 50V S00Vf = e s cic |
VED [ = — 750V 780V
“PIS on® “PIS off” [ toxupov_||





image12.png
vacuum_current.stp

50 -a0 20 0908:42
Sep 24,2013

(Minutes)

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=1.6043%-06
subroutine record

TSG:BIAS:RDVOL
v
(0, 60000) VAL=29963.4
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) vaL-12.6205

analog input record
TSH:TBHT:RDCUR

A

(0, 300) vaL-108.718

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=0.686669

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=108.425

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=0.964591

analog input record

TMS:IGB:RDVAC

T

log10 (1e-07, 16-05) VAL=6.467626-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=1.374626-07
subroutine record

« 3 4 IO X $] 0 #[Z= dJscroliinG





image13.png
x

vacuum_bias.stp TSGIGTRDYAC

T

log10 (1e-07, 16-05) VAL=1.67033-0

subroutine record

v

(0, 30000) VAL=29963.4

analog input record
TSGBIAS:RDCUR

uA
(0, 200) VAL=13.9194
analog input record

TSH:EE:RDVOL

v

(-2500, 0) VAL=-1496.95

analog input record
TSH:EE:RDCUR

{6, 1000) va-s05.455

anog mput record

{0, 15000) vaL-12991.5

aneiog mput record
TSGEZLRDCIR

uA
(0, 200) vAL=61.0501
analog input record

pre-7-

150 100 50 10:47:35
Sep 24,2013
(Minutes)

« 3 4 IO X $[ 0 #= 4 scroliinG





image14.png
x

vacuum_bias.stp TSGIGTRDYAC

T

log10 (1e-07, 16-05) VAL=1.69231e-0

subroutine record

v

(0, 30000) VAL=29963.4

analog input record
TSGBIAS:RDCUR

uA
(0, 200) vaL-14.2857
analog input record

TSH:EE:RDVOL

v

(-2500, 0) VAL=-1496.95

analog input record
TSH:EE:RDCUR

{6, 1000) va-s05.455

anog mput record

{0, 15000) vaL-12991.5

aneiog mput record
TSGEZLRDCIR

uA
(0, 200) vAL=61.0501
analog input record

pre-7-.

kY 2 105140
Sep 24,2013
(Minutes)

« 3 4 IO X $[ 0 #= 4 scroliinG





image15.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

e sy e1a
[ I ety S —— —
—— 500V T —

e e m——PrRY 505 uA

[ —— T A 10000 v
[ rshon |
[T Set Uit Amps 6000 A

Set Limt Volts 10000 V.
Set Limit Amps 600.0 A

Toccons S 78843V 14UA
0053 T

[ rsac
1.69e-06 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e
Sources Save/Restore





image16.png
vacuum_current.stp

50

(Minutes)

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=1.67033-06
subroutine record

TSG:BIAS:RDVOL
v
(0, 60000) VAL=29963.4
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) vaL-14.652

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=226.864

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL-2.63492

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=319.267

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=3.65324

analog input record

TMS:IGB:RDVAC

T

log10 (1e-07, 16-05) VAL=6.50409-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=1.10168e-08
subroutine record

« 3 4 IO X $] 0 #[= dJscroliinG





image17.png
' rgaApp - [TS-2019-09-24-08-05] - g
) File Edt View Mode Scan Graph Head Utiities Window Help

D@8 & 0L LW =kEE e 5] & 5P m @k nw PRI
Time:02:07:35
2.42e-007 Nitrogen
1.03e-006 Water
4.58e-009 Oxygen
2.34e-008 mass44
5.32¢-009 mass55
-5.22e-010 Helium
9.56e-010 mass71

3.41e-009 mass57

|

i il

For Help, press F1




image18.png
rgaApp - [TS-2019-09-24-10-57 (connected to:COM4)]

I

U5 Fle £t View Mode Scan Guph Heod Utitis Window Help

DS Q2 hbEkEL OBE|me B «@M »[z<6

ER R TN
Log every scan: 1/1000

For Help, press F1




image19.png
vacuum_current.stp

150 100 50 11:48:51
Sep 24,2013
(Minutes)

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=1.6043%-06
subroutine record

v

(0, 60000) VAL-0

analog input record

uA

(0, 1000) vAL-0

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=226.613

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL-2.62759

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=376.41

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=45177

analog input record

TMS:IGB:RDVAC

T

log10 (1e-07, 16-05) VAL=6.43136e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.1579%-10
subroutine record

« 3 4/ 3P o X ¢][ 0] #[= 4jscroLine





image20.png
FEBIAD Target Heat Sequence Setup

A50
1.000

Z50.000
1.000

200000
30006

5000506

- the time interval between increments. (in seconds)

- the amount to be added to the target heater
after each fime inferval

- the value that the target heater is required to reach.

- the amount to be added to the tube heater
after each fime inferval

- the value that the tube heater is required to reach.

- the target and tube heaters are only incremented ifthe
vacuum is akay, i2, less than this value

- ifthe vacuum exceeds this value, the last increment
of the target and tube heaters s backed off.





image21.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

B — "y an
s 1 A 17— st
[Toovoer [ 500V R e —

| m— T T 505 uA

[ —— TR T 0V 10000 v
[ rshon |
[T Set Uit Amps 6000 A

Set Limt Volts 10000 V.
Set Limit Amps 600.0 A

TSaCa1A e — 75853V 14UA
0052 T

[ rsac
1.34e-06 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e
Sources Save/Restore





image22.png
x

TSGIGIRDVAC
T
log10 (1e-07, 16-05) VAL=1.42657e-0
subroutine record
TSG:BIAS:RDVOL
v
(0, 30000) VAL=29963.4
analog input record
TSGBIAS:RDCUR

uA
(0, 200) vaL-12.0879
analog input record

TSH:EE:RDVOL

v

(-2500, 0) VAL=-1496.95

analog input record
TSH:EE:RDCUR

{6, 1000) va-s05.455

anog mput record

{0, 15000) vaL-12991.5

aneiog mput record
TSGEZLRDCIR

uA
(0, 200) vAL=61.0501
analog input record

kY 2 133825
Sep 24,2013

(Minutes)

€ 3 4/ 3P o X ¢][ 0] #|= 4scroLLne





image23.png
vacuum_current.stp

(Minutes)

x

TSGIGIRDVAC
T

log10 (1e-07, 16-05) VAL=1.34066¢-06
subroutine record

v
(0, 60000) VAL=29963.4
analog input record

uA
(0, 1000 val
analog input record

A
(0, 300) VAL=158.681
analog input record

analog input record
TSH:TGHT:RDCUR

Sep 24,2013

A
(0, 600) VAL-158.535
analog input record

analog input record
TMS:IGB:RDVAC
T
log10 (1e-07, 16-05) VAL=6.218e-07
calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.49316e-10
subroutine record

« 3 4/ 3P o X ¢][ 0 #[= 4jscroLine





image24.png
x

TSGIGIRDVAC

T

log10 (1e-07, 16-05) VAL=1.34066e-0

subroutine record

v

(0, 30000) VAL=29963.4

analog input record
TSGBIAS:RDCUR

uA
(0, 200) vAL=13.5531
analog input record

TSH:EE:RDVOL

v

(-2500, 0) VAL=-1496.95

analog input record
TSH:EE:RDCUR

{6, 1000) va-s05.455

anog mput record

{0, 15000) vaL-12991.5

aneiog mput record
TSGEZLRDCIR

uA
(0, 200) vAL=61.0501
analog input record

30 20
Sep 24,2013

(Minutes)

B4 o X/ 31/ 0 %= o scroLin





image25.png
State Machine:
cxml_TSH_tght

Walt for specified ine
if vacuum ok, increment heaters
Increment target heat
Walt for specified time
if vacuum ok, increment heaters
Increment target heat

- SNL Sequence loaded -

Can't unlock the procedure;

cxml_TSH_tght State Machine
Entry

| pall_done

All_done

State Maching PVs.
CHMLTSHSTATHEAT
CHMLTSHTBHTING
CHMLTSHTBHTMAX
CHMLTSHTGHT:ABORT
CAMLTSHTGHT:START
CAMLTSHTGHT:STATE
CXMLTSHTGHT:STATENO
CAMLTSHTGHTING
CAMLTSHTGHTMAX
CHMLTSHTGHTWAIT
CHMLTSHVACMAX
CHMLTSH:VACMAXSPIKE

Monitored Operational
TSHTGHT-RDCUR
TSHTEHT-RDCUR
TSHTGHT:STATON
TSHTBHT:STATON
TSGIGI:RDVAC

Contralled Operatianal
TSHTGHT.CUR

the sequence is loaded on an 10C.

1.000
7.000
200000

Mainawait

6.000
7.000
Z60.000
15.000
0.000
0000

PYs
Z52.015
198.681

an

on
0000

PYs
Z53.000





image26.png
vacuum_current.stp

x

TSGIGIRDVAC
T

log10 (1e-07, 16-05) VAL=1.34066¢-06
subroutine record

v
(0, 60000) VAL=29963.4
analog input record

uA
(0, 1000 val
analog input record

A
(0, 300) VAL=198.681
analog input record

analog input record
TSH:TGHT:RDCUR

50 a0

(Minutes)

Sep 24,2013

A
(0, 600) VAL=252.015
analog input record

analog input record
TMS:IGB:RDVAC

T

log10 (1e-07, 16-05) VAL=6.25306e-07
calculation record

TMS:FCO:SCALECUR

[y

log10 (1e-10, 16-06) VAL=5.49316e-10
subroutine record

« 3 4/ 3P o X ¢][ 0 #[= 4jscroLine





image27.png
vacuum_current.stp

x

TSGIGIRDVAC
T

log10 (1e-07, 16-05) VAL=1.4065%-06
subroutine record

v
(0, 60000) VAL=29963.4
analog input record

uA
(0, 1000 val
analog input record

A
(0, 300) VAL=198.681
analog input record

analog input record
TSH:TGHT:RDCUR

a0
Sep 24,2013

(Minutes)

A
(0, 600) vaL=279.121
analog input record

analog input record
TMS:IGB:RDVAC
T
log10 (1e-07, 16-05) VAL=6.18314e-07
calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=6.10352¢-10
subroutine record

« 3 4/ 3P o X ¢][ 0 #[= 4jscroLine





image28.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

o e — T

T w0y T
——— S00V T e ——

e e m——PrRY 505 uA

| P sisay sumoas 10,000V

[ romenr |

" 2200 0 yga7 A Set Limit Amps BO0.0 A
— —

[ ——— 7 YT 2 10000 v
I, Set Uit Amps 6000 A

— T 714
roccors | IS s 23563V 14 UA
0052 T

[ rsac
1.43e-06 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e
Sources Save/Restore





image29.png
x

TSGIGIRDVAC

T

log10 (1e-07, 16-05) VAL=1.34066e-0

subroutine record

v

(0, 30000) VAL=29963.4

analog input record
TSGBIAS:RDCUR

uA
(0, 200) vaL-12.8205
analog input record

TSH:EE:RDVOL

v

(-2500, 0) VAL=-1496.95

analog input record
TSH:EE:RDCUR

{6, 1000) va-s05.455

anog mput record

{0, 15000) vaL-12991.5

aneiog mput record
TSGEZLRDCIR

uA
(0, 200) vAL=61.0501
analog input record

30 20
Sep 24,2013

(Minutes)

€ 3 4/ 3P o X ¢][ 0] #|= 4scroLLne





image30.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

o e — T

[ e s 507 SOV
——— S00V T e ——

e e m——PrRY 505 uA

| P sy s 10,000V

[ romenr |

" 2200 0 yga7 A Set Limit Amps BO0.0 A
— —

——— 111 R YT 2V 10000 v
I, Set Uit Amps 6000 A

— T 714
TP [ 5o [ e m—t AT
0052 T

[ rsac
1.34e-06 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e
Sources Save/Restore





image31.png
rgaApp - [TS-2019-09-24-11-20 (connected to:COM4)] - g

i File Edt View Mode Scan Graph Head Utiities Window Help

D ES e © 2k =@ L B || [55] = ® Py @ e |k % we BRI AR
Pvs T Scan Time:06:14:07
Total Pressure Sep24,| — 7.76e-008 Nitrogen

— 8.69e-007 Water

— 2.37e-010 mass55
— -1.16e-010 Helium

— 1.63e-009 Neon

— 4.69¢-010 mass57

J ‘L““A “ ‘%
Lo A

Vi,

! il

l‘\

For Help, press F1




image32.png
x

vacuum_bias.stp TSGIGTRDYAC

T
log10 (1e-07, 16-05) VAL=1.34066¢-06
subroutine record

TSG:BIAS:RDVOL
v
(0, 30000) VAL=29963.4
analog input record

TSGBIAS:RDCUR

uA
(0, 200) vAL-16.1172
analog input record

v
(-2500, 0) VAL=-1496.95
analog input record

uA

(0, 1000) VAL=505.495

analog input record
TSGIEZLIRDVOL

v

(0, 15000) VAL=12991.5

analog input record
TSGEZLIRDCUR

uA
(0, 200) vAL=61.0501
analog input record

pre-7-.

30 20 11:51:59
Sep 25, 2013
(Minutes)

« 3 4/ 3P o X ¢][ 0] #[= 4jscroLine





image33.png
x

vacuum_current.stp TSGIGTRDYAC

T
log10 (1e-07, 16-05) VAL=1.6043%-06
subroutine record
v
(0, 60000) VAL=29963.4
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=17.56824

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=226.864

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=2.74237

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=560.22

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=7.77778

analog input record

T

log10 (1e-07, 16-05) VAL=6.467626-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=1.53931-07
subroutine record

150 100
Sep 25, 2013
(Minutes)

« 3 4/ 3P o X ¢][ 0] #[= 4jscroLine





image34.png
Jusr1/isact/ed|/rpmvasxcp.ed - o
WIRE SCANNER TMS:RPMOA

scantime  [57440  cuent  -009 pos 0.00 Tsscond
Centroic 0.00 0.00 2ms: 000 000
Beam Current vs. Position
10
= g -
o
s 6] |
[T 5—
4— ]
g 4
s 7 |
@ 2—
a 1
o 1 I I I
(] 2 4 6 8
700 1mA
94un
3308
TS Ve v 200 10uA
- 1uA
START aartman RPM Compare Default Range. 100 nA
Scaled Position —
Fie N
1SAC fiducials —




image35.png
Jusr1/isact/ed|/rpmvasxcp.ed - o
WIRE SCANNER TMS:RPMOB

scantime  [R0480  cument 001 pos 0.00 Tsscond
Centroic 0.00 0.00 2ms: 000 000
Beam Current vs. Position
10
s g | -
o
s 6] |
[T 5—
4— ]
g 4
s 7 |
@ 2—
a 1
o 1 I I I
(] 2 4 6 8
P 800 1mA
E 94un
33ua
T o e 2000 10uA
- 1uA
START aartman RPM Compare Default Range. 100 nA
Scaled Position —
Fie N
1SAC fiducials —




image36.png
X

Jusr/isact/ed/isact_optics1.ed!

ISAC TEST STAND Sep 25 13.02:12
== |_tMsrce | -2.93e-12 A
| TMsER0 19.16e-04 volts
N — - = g 1230 V 1226 V
o = e 298V 298V > s coor |
=T = = 488V 488V 1 = s cec |
NED- |- = = 677 V 681V,
V= | | . 2 = oV oV
N |- e = av av
V= ||| 2 — ov ov
' [Tswer (8 T 0503 A 3583G
U= || |- 2 = oV oV
N - 2 — oV oV
VE | |- 2 = oV oV
N e = = 677 V. 681V
0 |- = i 293V 29V 1 > s coor |
= ([ = = 500V 488V 1 = s cec |
N0 — | . = g 1230 V 1226 V
e N sroo I 1.556-07 A
UE . = — 500V 500V
0N [ = i 500V 500V 1 > 0 T
VD - = g 1110V 1oV
NE [ = — my 770V,
(= ce: s = =1 500V 00V T = 2 T
VED [ = — 1500 V 1500 V.
“PIS on® “PIS off” [ toxupov_||





image37.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

R L VT
s 1 A 17— st
[Toovoer [ 500V R e —

| m— T T 505 uA

[ —— 2 AT 0V 10000 v
[ rshon |
[T Set Uit Amps 6000 A

Set Limt Volts 10000 V.
Set Limit Amps 600.0 A

Taacata [ ———t LTI
0054T

[ rsac
1.60e-06 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e
Sources Save/Restore





image38.png
Faraday Cup:

Interlocks
Drive (out)
In Limit
Out Limit
Time-Out

1.55€-07

Faraiay Cup Bias [ Tisems |
Bias Ok —

Bias Polarty Nz

Readback |58

For Bias TMS1GE Ok

Wi byISACOPS





image39.png
Faraday Cup:  TMS:FC6

evice Notes

autorange

log10 enb

N Interlocks

Faraday Cup Bias

Bias Polariy |

Readback |60

For Bias TMS1GE Ok





image40.png
TMS:FC&:SCALECURCORR beam current vs. mass

100
massiq

150

You must delete the old data before dumping the plot to file. The name of dump file must be plot.bd

MASSOVERD2 = (TM3:ME1 ::HALLMB22:RDFIELD + CONSTI 1 Y"2 * CONST22 /TS5 BIAS:ROVOL

TSGBIASRDVOL __23a)

63.37

MIN AND MAX MOGZ

2.3685 units

CONSTI1 12188

CoNsTZz

010219

[

MASSOVERQ = (TMS:MB1RDCUR + CONST1)™2 * CONST2 / TSG:BIASRDVOL

TSGBIASROVOL 239

63.37

CONST1 0100

CONSTZ

107.0000

A CURRENT 4)
2648517

W CURRENT (4
166444

Delete Old Data

ShowSave Raw Datal

Giean,Show/Save Data

TMSMB1:CUR
TMSMB1:MASSOVERQ
TMS:FCEB:SCALECURCORR

TMSHALLMBT:RDFIELD

2593169 4 25.93169

241 units
1.008-13
E

TMSHALLMBTRDTEMP 2440

Set timestamp

After changing the values press “Enter”

ow scan limit

high scan limit
scan step

10

Z500

(A per 01 5)

bozo

=T

Propare DOWN

[ bisasLed
e
bown

autorange
log10
e |





image41.png
Jusr1/isact/ed|/rpmvasxcp.ed - o
WIRE SCANNER TMS:RPM6A

scantime  [B04B0  cument 006 pos 0.00 Tsscond
Centroic 0.00 034 2ms: 000 01z
Beam Current vs. Position
10
= g -
o
s 6] |
(5] | 5—
4— ]
g 4
s 7 |
° 2] —
. A
o 1 A I
(] 2 4 6 8
200 1mA
94un
3308
TS Ve v 20 10uA
- 1uA
START aartman RPM Compare Default Range. 100 nA
Scaled Position —
Fie N
1SAC fiducials T




image42.png
Jusr1/isact/ed|/rpmvasxcp.ed - o
WIRE SCANNER TMS:RPM&B

scantime  [80320  curent 001 pos 0.00 Tsscond
Centroic 009 018 2ms: 046 045
Beam Current vs. Position
10
= g -
o
s 6] |
(5] | 5—
4— ]
g 4
s 7 |
@ 2
B - N\
o T I
(] 2 4 6 8
P 200 1mA
E 94un
33ua
T o e 2000 10uA
- 1uA
START aartman RPM Compare Default Range. 100 nA
Scaled Position —
Fie N
1SAC fiducials T




image43.png
x

TSGIGIRDVAC
T
log10 (1e-07, 16-05) VAL=1.43456-06
subroutine record
TSG:BIAS:RDVOL
v
(0, 30000) VAL=29963.4
analog input record
TSGBIAS:RDCUR

uA
(0, 200) VAL=15.7509
analog input record

v
(-2500, 0) VAL=-1496.95
analog input record

uA
(0, 1000) VAL=505.495
analog input record

v

(0, 15000) VAL=12991.5

analog input record
TSGEZLIRDCUR

uA
(0, 200) vAL=61.0501
analog input record

5 11:36:39
Sep 26, 2013
(Minutes)

« 3 4/ 3P o X ¢][ 0] #[= 4jscroLine





image44.png
‘ ISAC TEST STAND SURFACE SOURCE (TSG)

B — "y an
s 1 A 17— st
[Toovoer [ 500V R e —

| m— T T 505 uA

[ —— LT 0V 10000 v
[ rshon |
[T Set Uit Amps 6000 A

Set Limt Volts 10000 V.
Set Limit Amps 600.0 A

TSaCa1A e — 75853V 17 UA
0054T

[ rsac
152e-06 T
[T eis o “PIS off" “TPSITSG Anti-spartc] IEETRN

e
Sources Save/Restore





image45.png
X

Jusr/isact/ed/isact_optics1.ed!

ISAC TEST STAND Sep 26 11:36:57
== |_tMsrce | -4.88e-13 A
T Jei6e 04 vols
U= — [ = = 1230V 1226 V
o = e 293V 293V > s coor |
=T = = 488V 483V 7 = s cec |
V=) | [ = = 676 V) 681V,
V= | | . 2 = oV oV
N |- e = av av
V= ||| - — ov 1V
' - e T 138620 A ~3360.77 G
U= || |- 2 = oV oV
V= - e = av av
V=D | |- e = av av
NE-L e = = 676V 681V,
o (s D = 289V 299V = |
= = = 500V 483V 7 = s cec |
N —{ e = = 1230V 1226V
= B sror T 281e08 A
=50 s = = 500V 500V
0N [ = i 500V 500V 1 = T
V=D - o = 1110V 1110V
V=L - = = 771V, 770V
(= sc s = - 500V 00V T = el 5|
V=D - = = 789V 750V
“PIS on® “PIS off” [ toxupov_||





image1.png
x

vacuum.stp TSGIGTRDYAC

T
log10 (1e-07, 16-05) VAL=0.0973626
subroutine record

TMS:IGE:RDVAC

T
log10 (1e-07, 16-05) VAL=6.25306e-07
calculation record

[ E

(0, 770) VAL=1.44724

analog input record
TSG:CGIARDVAC

T

(0,0.1) VAL-1.25776

analog input record

[ i

(0, 770) VAL=0.000731707

analog input record
TMS:CGZARDVAC

T

(0,0.1) VAL-0.0134146

analog input record
TSG:CGIBRDVAC

T

(0,0.1) VAL=1.11493

analog input record

\

30 20 13:48:32
Sep 23,2013
(Minutes)

« 3 4 IOl X $/ 0 #[Z= dJscroiinG





image46.png
TMS:FC&:SCALECURCORR beam current vs. mass

50

100 150
massiq

You must delete the old data before dumping the plot to file. The name of dump file must be plot.bd

MASSOVERD2 = (TM3:MB1 :HALLMB22RDFIELD + CONSTI 1

TSGBIASRDVOL __23a)

63.37

"2 CONST22 /TS BIASRDVOL.

MIN AND MAX MOGZ

5.3225 units

CONSTI1 12188

CoNsTZz

010219

[

MASSOVERQ = (TMS:MB1RDCUR + CONST1)™2 * CONST2 / TSG:BIASRDVOL
TSGBIASROVOL 29963.37

A CURRENT 4)
253.8409

CONST1 0100

CONSTZ

107.0000 W CURRENT (4
166444

Delete Old Data

ShowSave Raw Datal

Giean,Show/Save Data

TMSMB1:CUR
TMSMB1:MASSOVERQ
TMS:FCEB:SCALECURCORR

TMSHALLMBT:RDFIELD

3662030 & 36.62090

4.81 units
1.008-13
1128

TMSHALLMBTRDTEMP 2440

Set timestamp

After changing the values press “Enter”

ow scan limit

high scan limit
scan step

10
Z300

020

(A per 01 5)

= || o

[ bisasLed
e
bown

autorange

[ Tvsres |





image47.png
TMS:FC&:SCALECURCORR beam current vs. mass

massiq

You must delete the old data before dumping the plot to file. The name of dump file must be plot.bd

MASSOVERD2 = (TM3:ME1 ::HALLMB22:RDFIELD + CONSTI 1 Y"2 * CONST22 /TS5 BIAS:ROVOL

TSGBIASRDVOL __23a)

63.37

MIN AND MAX MOGZ

398111 units

CONSTI1 12188

CoNsTZz

010219

[

MASSOVERQ = (TMS:MB1RDCUR + CONST1)™2 * CONST2 / TSG:BIASRDVOL

TSGBIASROVOL 29963.37

CONST1 0100

CONSTZ

107.0000

A CURRENT 4)
253.8409

W CURRENT (4
166444

Delete Old Data

ShowSave Raw Datal

Giean,Show/Save Data

TMSMB1:CUR
TMSMB1:MASSOVERQ
TMS:FCEB:SCALECURCORR

TMSHALLMBT:RDFIELD

11097030 4 110.:
44.16 units
8.708-10
-a297

97090

TMSHALLMBTRDTEMP 2440

Set timestamp

After changing the values press “Enter”

ow scan limit

high scan limit
scan step

Prepare UP

Propare DOWN

10
Z300

020

(A per 01 5)

[ bisasLed
e
bown

autorange

[ Tvsres |





image48.png
TMS:FC&:SCALECURCORR beam current vs. mass

110 120 130
massiq

You must delete the old data before dumping the plot to file. The name of dump file must be plot.bd
MASSOVERD2 = (TM3:ME1 ::HALLMB22:RDFIELD + CONSTI 1 Y"2 * CONST22 /TS5 BIAS:ROVOL 1368630 units

TSGBIASRDVOL __ 23363.37 MIN AND MAX MOGZ

CONSTI1 — consTzz /010213 =

MASSOVERQ = (TMS:MB1RDCUR + CONST1)™2 * CONST2 / TSG:BIASRDVOL Delete Old Data

A CURRENT 4)
TSGBIASADVOL 29963.37 2538409 Show/Save Raw Datal
0100 107.0000

cusnen 4
CONSTI CONST2 16,6444 Gean, Show/Save Data

TV MBT CUR anzesna 211.28090 Set timestam
TMSMBIMASSOVERQ 16028 units
TMS FCBSCALECURCORR 160205

TMSHALLMB1:ROFIELD 8216 TMSHALLMBTRDTEMP 2440

After changing the values press “Enter”

Propare UP || Propare DoWN autorange
tow scan It 0 ]

DISABLED
High scan it Za00 i

scan'sie e I—— sre: |
oper 019 0 boun I





image49.png
Jusr1/isact/ed|/rpmvasxcp.ed - o
WIRE SCANNER TMS:RPM6A

scantime  [R0480  curent 001 pos 0.00 Tsscond
Centroic 0.00 034 2ms: 000 01z
Beam Current vs. Position
10
= g -
o
s 6] |
[T 5—
4— ]
g 4
s 7 |
@ 2—
a —
o 1 I I I
(] 2 4 6 8
700 1mA
94un
3308
TS Ve v 20 10uA
- 1uA
START aartman RPM Compare Default Range. 100 nA
Scaled Position B
Fie N
1SAC fiducials —




image50.png
Jusr1/isact/ed|/rpmvasxcp.ed - o
WIRE SCANNER TMS:RPM&B

scantime 80320 cument 002 pos 0.00 Tsscond
Centroic 009 018 2ms: 046 045
Beam Current vs. Position
10
= g -
o
s 6] |
(3 En
4— ]
g 4
s 7 |
@ 2—
- J/Jq
o R I
(] 2 4 6 8
P 500 1mA
E 94un
33ua
T vobe e 2000 10uA
- 1uA
START aartman RPM Compare Default Range. 100 nA
Scaled Position B
Fie N
1SAC fiducials —




image51.png
TMS:FC&:SCALECURCORR beam current vs. mass

massiq

e e e e 0 0
10 20 30 40 5

You must delete the old data before dumping the plot to file. The name of dump file must be plot.bd

MASSOVERD2 = (TM3:ME1 ::HALLMB22:RDFIELD + CONSTI 1 Y"2 * CONST22 /TS5 BIAS:ROVOL

TSGBIASRDVOL __ 23363.37 MIN AND MAX MOGZ

27.3250 units

CONSTI — consTzz /010213

[

MASSOVERQ = (TMS:MB1RDCUR + CONST1)™2 * CONST2 / TSG:BIASRDVOL

A CURRENT 4)
TSGBIASROVOL 29963.37 P
0100 107.0000

W CURRENT (4
CONST! CONSTZ e

Delete Old Data

ShowSave Raw Datal

Giean,Show/Save Data

TMS:MB1:CUR 9215030 4 92.15090
TMSMB1:MASSOVERQ 30.42 units

TMSFCESCALECURCORR  1.186-03
TMSHALLMB1:ROFIELD 2741 TMSHALLMBTRDTEMP 2440

Set timestamp

After changing the values press "Enter” Propare UP | Prepare DOWN

DISABLED
high scan limit 2300 0

scan step —

(A per 01 5) 020 DOWN

ow scan limit 10 ]

autorange

[ Tvsres |





image52.png
Jusr1/isact/ed)/romvasxcp.edl

WIRE SCANNER  TMS:RPM6A

scantime  [R0AB0  cument  -009 pos 0.00 Tsscond
Centroic 0.00 034 2ms: 000 01z
Beam Current vs. Position
10
= g
o
s 6
© 1
4]
g 4
L
@ 2—
a —
o 1 I I I
(] 2 4 6 8
200 1mA
94un
3308
TS Ve v 20 10uA
- 1uA
START aartman RPM Compare Default Range. 100 nA
Scaled Position —
na
1SAC fiducials___file Name

1nA





image53.png
Jusr1/isact/ed|/rpmvasxcp.ed - o
WIRE SCANNER TMS:RPM&B

scantime  [BOABD  cument 004 pos 0.00 Tsscond
Centroic 009 018 2ms: 046 045
Beam Current vs. Position
10
= g -
o
s 65 |
[T 5—
4— ]
g 4
s 7 |
@ 2—
a 1
o 1 f I
(] 2 4 6 8
P 6.00 1mA
E 94un
33ua
T vobe e 2000 10uA
- 1uA
START aartman RPM Compare Default Range. 100 nA
Scaled Position —
Fie N
1SAC fiducials T




image54.png
Emittance Rig TMS:ERO Enit Positon
autinit -

Position Scan Parameters Field Scan Parameters in it -
start &0 Range &0 ater Flow nterlock mamm

End 94 Steps Gl

# of steps z Delay 000 —
Calib

crrentposition 20 94,00 Offset G000

Destiraton [34.00 ima |
Scan Complete —
Poston  [S400 | aaua
—  NuA | Enmittance Rig Bias.
Comment [ value D S ~wa | Bias Ok |
=T T T

SR Jana | | | Besromty |

Passive J| [ 1na_| Readhack |0

[Catbretea

st | [ avot | [pa/ Stowpata | | Keepata |

Tpm mode

Use the park” button o move theri out of the beam. The Emittance rig s caliratet at 0o startup

Parkedt

L
CE——
|

Calbrates

Dac [-500





image55.png
e

H
El

P

Flle Edit View Inset Tools Deskto




image2.png
x

vacuum.stp TSGIGTRDYAC

T
log10 (1e-07, 16-05) VAL=1.43456-06
subroutine record

TMS:IGE:RDVAC
T
log10 (1e-07, 16-05) VAL=6.25306e-07
calculation record

T

(0, 770) vAL=0

analog input record
TSG:CGIARDVAC

T

(0,0.1) VAL-0.052439

analog input record

T

(0, 770) VAL=0

analog input record
TMS:CGZARDVAC

T

(0,0.1) VAL-0.0121951

analog input record
TSG:CGIBRDVAC

T

(0, 0.1) VAL=0.0153659

analog input record

20 15 -10 5_08:04:36
Sep 24,2013

« 3 4/ 3P o X ¢] 0 #[= 4jscroLine





image56.png
File Edit View Inset Tools Desktop Window Help ¥

NEHS K ARVVDRL-E|0E] 7

10° vihcwohgpoﬁﬁm 40.0000)

10

fraction outside

10

50 100





image57.png
Fle Edit View Inset Tools Desktop Window Help

Background Subtract




image58.png
File Edit View Inset Tools Desktop Window Help ¥

NEHS K ARVVDRL-E|0E] 7

10° vafm(Volugaoﬁsm 40.0000)

10

fraction outside

H
0 5 10 15
7 mm-mrad





image59.png
x

vacuum_current.stp TSGIGTRDYAC

T
log10 (1e-07, 16-05) VAL=1.318606-06
subroutine record
v
(0, 60000) VAL=29963.4
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=17.2161

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=226.864

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=2.73504

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=576.168

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL-7.66545

analog input record

T

log10 (1e-07, 16-05) VAL=6.01172e-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=3.1256-08
subroutine record

150 100 14:27:42
Sep 26, 2013
(Minutes)

« 3 4/ 3P o X ¢][ 0] #[= 4jscroLine





image60.png
Jusr1/isact/ed|/cxml/tgcool_setup.ed! - o IEN

FEBIAD Target Cooling Sequence Setup

1.[B5T " - the tine nterval bstween decrements.(n sconds)

2. [T505 - the amount o he subtracted fom th target heater
atr sach tme iterval

5[5 - the amount o he subtracted fom the tubs heater

after each fime inferval




image61.png
vacuum_current.stp

il

20

Sep 27,2013

x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=6.91209-07
subroutine record
v
(0, 60000) VAL=29963.4
analog input record

TSGBIAS:RDCUR

uA

(0, 1000) VAL=10.6227

analog input record
TSH:TBHT:RDCUR

A

(0, 300) VAL=0.14652

analog input record
TSH:TBHT:RDVOL

v

(0, 4) VAL=0.031746

analog input record
TSH:TGHT:RDCUR

A

(0, 600) VAL=1.4652

analog input record
TSH:TGHT:RDVOL

v

(0, 8) VAL=0.026862

analog input record

T

log10 (1e-07, 16-05) VAL=5.556626-07

calculation record
TMS:FCO:SCALECUR

[y
log10 (1e-10, 16-06) VAL=5.79634e-10
subroutine record

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image62.png
x

TSGIGIRDVAC
T
log10 (1e-07, 16-05) VAL=6.71429-07
subroutine record
TSG:BIAS:RDVOL
v
(0, 30000) VAL=87.9121
analog input record

TSGBIAS:RDCUR

uA
(0, 200) vaL-0
analog input record

v
(-2500, 0) VAL=0
analog input record

uA
(0, 1000) vaL-0
analog input record

v

(0, 15000) VAL=0

analog input record
TSGEZLIRDCUR

uA

(0, 200) vaL=12.21

analog input record

5 07:17:30
Sep 27,2013
(Minutes)

1 3[4 0/ X $/[ 0 #||= M scroting





image63.png
x

TSGIGIRDVAC

T
log10 (1e-07, 16-05) VAL=6.71429-07
subroutine record
v
(0, 30000) VAL=0
analog input record

TSGBIAS:RDCUR

uA
(0, 200) vaL-0
analog input record

v
(-2500, 0) VAL=0
analog input record

uA
(0, 1000) vaL-0
analog input record

L g

(0, 15000) VAL=0

analog input record
TSGEZLIRDCUR

uA

(0, 200) vaL=12.21

analog input record

20 15 10 07:18:36
Sep 27,2013
(Hours)

« 3 4 IOl X $[ 0 #[Z= dJscroiinG





image64.png
rgaApp - [TS-2019-09-26-11-10 (connected to:COM4)] - a

2] File Edt View Mode Scan Greph Head Utities Window Help

DE ESe @2k h=k@l | | @ E< 8 P alalk R D>
Pvs T Scan Time:03:14:16
Total Pressure Sep26,| — 2.25e-008 Nitrogen

— 1.25e-006 Water

— 2.88e-009 Oxygen
— 3.30e-009 mass44
— 9.36e-011 mass55
— 7.02e-012 Helium

1.94e-009 Neon

— 4.82e¢-010 mass57

N , ‘Mw W’f‘mlww‘w‘Wm”"MT{f‘n""“‘r‘\“uh ‘\‘q\‘“'li«“ ‘N‘H|w““,\g|wm\ Ukl ¢ i
M

il

04:00:00 08:00:00 12:00:00 16:00:00 20:00:00

! Pw'

Time (hh:mm:ss)

For Help, press F1




image65.png
‘ ISAC TEST STAND VACUUM

[Tvsice |

565007 T

[hs:caan |

[ 15 co2o (e

0000 T

B oo

Auto-purp
Beamine

Source

Global Reset

[ Tscc |

7.02e-07 T
Cle g Dot

Y
PR e

M 0

e

e

e

e

e

rscvvm

[ Tscoata |
0051 T

"Start”

"Start”

EIEH4T

rsckm





image3.png
‘ ISAC TEST STAND VACUUM

[Tvsice |

63207 T

—

[hs:caan |

[ 15 co2o (e

0000 T

B oo

Auto-purp
Beamine

Source

Global Reset

[ Tscc |

1.52e-06 T
Cle g Moot

Y
PR e

M 0

e

e

e

e

e

rscvvm

[ Tscoata |
0052 T

"Start”

"Start”

EIEHET

rsckm





image4.png
rgaApp - [TS-2019-09-24-08-05 (connected to:COM4)]

I

U5 Fle £t View Mode Scan Guph Heod Utitis Window Help

DS Q2 hbEkEL OBE|me B «@M »[z<6

ER R TN
Log every scan: 1/1000

For Help, press F1




image5.png
I

rgaApp - [TS-2019-09-24-08-05 (connected to:COM4)]

U5 Fle £t View Mode Scan Guph Heod Utitis Window Help

D& @83 QL L ushkELE

1.0x10"

For Help, press F1

00:00:00

00:05:00

omBleo@a[«@-»[E<6sPmoelaiLw

00:10:00 00:15:00 00:20:00 00:25:00

Time (hh:mm)

Time:00:00:00
3.72e-007 Nitrogen
1.04e-006 Water
6.99e-009 Oxygen
3.41e-008 mass44
8.60e-009 mass55
-8.18e-009 Helium
2.42¢-009 mass71
2.28e-009 Neon

8.49¢-009 mass57

00:30:00




